



StudentName: \_\_\_\_\_

ExamDate: \_\_\_\_\_ ExamScore: \_\_\_\_\_

$$\left(\frac{3}{5}\right)^2 - \frac{1}{2} =$$

$$\left(-\frac{1}{6}\right)^{(-1)} - \frac{2}{5} =$$

$$\left(-\frac{1}{2}\right) - \left(-\frac{1}{6}\right) =$$

$$\left(\frac{1}{2}\right)^{(-1)} - \left(-\frac{3}{5}\right) =$$

$$\left(-\frac{1}{4}\right) - \frac{1}{2} =$$

$$\left(-\frac{1}{2}\right)^{(-1)} + \frac{1}{2} =$$

$$\left(-\frac{3}{4}\right)^{(-1)} - \left(-\frac{3}{5}\right) =$$

$$\left(\frac{3}{5}\right)^2 - \frac{1}{5} =$$

$$\left(\frac{3}{5}\right)^2 - \frac{3}{4} =$$

$$\left(\frac{2}{5}\right)^{(-1)} - \frac{1}{2} =$$

$$\left(\frac{1}{3}\right)^2 + \frac{1}{2} =$$

$$\left(\frac{3}{4}\right)^0 + \left(-\frac{1}{5}\right) =$$

$$\left(-\frac{1}{2}\right)^{(-1)} - \frac{1}{5} =$$

$$\left(-\frac{1}{5}\right)^{(-2)} + \left(-\frac{1}{5}\right) =$$

$$\left(-\frac{2}{5}\right)^2 - \frac{1}{2} =$$

$$\left(\frac{2}{5}\right)^{(-2)} + \frac{1}{4} =$$

$$\left(-\frac{3}{4}\right)^{(-2)} - \frac{3}{4} =$$

$$\left(\frac{3}{4}\right)^2 - \frac{1}{3} =$$

$$\left(-\frac{1}{5}\right)^{(-1)} + \left(-\frac{2}{5}\right) =$$

$$\left(-\frac{1}{2}\right)^2 - \left(-\frac{3}{5}\right) =$$



StudentName: \_\_\_\_\_

ExamDate: \_\_\_\_\_ ExamScore: \_\_\_\_\_

$$\left(\frac{3}{5}\right)^2 - \frac{1}{2} = \left(-\frac{7}{50}\right)$$

$$\left(-\frac{1}{6}\right)^{(-1)} - \frac{2}{5} = \left(-\frac{32}{5}\right) = \left(-6\frac{2}{5}\right)$$

$$\left(-\frac{1}{2}\right) - \left(-\frac{1}{6}\right) = \left(-\frac{1}{3}\right)$$

$$\left(\frac{1}{2}\right)^{(-1)} - \left(-\frac{3}{5}\right) = \frac{13}{5} = 2\frac{3}{5}$$

$$\left(-\frac{1}{4}\right) - \frac{1}{2} = \left(-\frac{3}{4}\right)$$

$$\left(-\frac{1}{2}\right)^{(-1)} + \frac{1}{2} = \left(-\frac{3}{2}\right) = \left(-1\frac{1}{2}\right)$$

$$\left(-\frac{3}{4}\right)^{(-1)} - \left(-\frac{3}{5}\right) = \left(-\frac{11}{15}\right)$$

$$\left(\frac{3}{5}\right)^2 - \frac{1}{5} = \frac{4}{25}$$

$$\left(\frac{3}{5}\right)^2 - \frac{3}{4} = \left(-\frac{39}{100}\right)$$

$$\left(\frac{2}{5}\right)^{(-1)} - \frac{1}{2} = 2$$

$$\left(\frac{1}{3}\right)^2 + \frac{1}{2} = \frac{11}{18}$$

$$\left(\frac{3}{4}\right)^0 + \left(-\frac{1}{5}\right) = \frac{4}{5}$$

$$\left(-\frac{1}{2}\right)^{(-1)} - \frac{1}{5} = \left(-\frac{11}{5}\right) = \left(-2\frac{1}{5}\right)$$

$$\left(-\frac{1}{5}\right)^{(-2)} + \left(-\frac{1}{5}\right) = \frac{124}{5} = 24\frac{4}{5}$$

$$\left(-\frac{2}{5}\right)^2 - \frac{1}{2} = \left(-\frac{17}{50}\right)$$

$$\left(\frac{2}{5}\right)^{(-2)} + \frac{1}{4} = \frac{13}{2} = 6\frac{1}{2}$$

$$\left(-\frac{3}{4}\right)^{(-2)} - \frac{3}{4} = \frac{37}{36} = 1\frac{1}{36}$$

$$\left(\frac{3}{4}\right)^2 - \frac{1}{3} = \frac{11}{48}$$

$$\left(-\frac{1}{5}\right)^{(-1)} + \left(-\frac{2}{5}\right) = \left(-\frac{27}{5}\right) = \left(-5\frac{2}{5}\right)$$

$$\left(-\frac{1}{2}\right)^2 - \left(-\frac{3}{5}\right) = \frac{17}{20}$$